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The term ‘Hartig
associated with :

(1) Lichen

(2) Bacterial colony
(3) Mycorrhizae
(4) Water blooms

net’ is

Which of the following is not a
role of Mycorrhizae ? -

(1) Increase the solubility of
minerals in the soil,
(2) Protect the roots against

certain  plant pathogenic
bacteria.
(3) Facilitate the uptake of

phosphorous from soil.
(4) Assist in vegetative
propagation of the plant.

In lichens, the majority of
mycobionts are :

(1) Ascomycetes
(2) Phycomyecetes
(3) Oomycetes

(4) Zygomycetes

Select the incorrect statement in

reference to lichens :

(1) Saxicolous lichens are
instrumental in initiating
soil formation.

(2) Usnic acid, produced by
many lichens, is an
antifungal substance.

(3) Azotodesmic lichens fix
nitrogen.

(4) Reindeer moss is a lichen.
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Match Column-I with Column-IT

and choose the correct answer

using the codes given below :
Column -1 Column - 11

A. Red (1) Aspergillus
mold niger

B. Black (1) Serratia
- mold marcescens

C. Green @ii) Neurospora
mold ' crassa

D. Pink (@iv) * Penicillium
mold © digitatum

Codes :

A B C D
1 @ Gv) @O @)
@ @® @) @ (@)
@) @) @ Gv) @
(4) Gv) @) @) @

Heterothallism in fungi refers to

(1) Morphologically  dissimilar
thallus

(2) Sexually self-sterile thallus
which requires compatible
thallus for sexual
reproduction.

(3) Presence of different types of
thallus in the life cycle.

(4) Formation of different types
of thallus by different modes
of propagation.

Which of the following is a major
constituent of the fungal cell wall ?
(1) Chitin

(2) Xylan

(3) Murein

(4) Cutin

Parasexual cycle a unique feature
of many

(1) Algae

(2) Fungi '\

(3) Bryophytes '

(4) Pteridophytes
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12.

In Bryophytes hydroids:

leptoids are equivalent to : \

(1) Hydathodes and Lenticels
respectively . :

(2) Rhizoids
respectively

3

C))

and

and Leaves

Xylem and Phloem
respectively

Vegetative spores

Elongation of seta, of a mature
capsule, in liverworts is due to :
(1) Elongation of the cells of seta
(2) Elongation of the cells of foot
(3) Increase in number of cells in
seta

Growth in the gametophytic
plant

4)

Anthoceros is also known as
(1) Stonewort

(2) Liverwort

(3) Quillwort

(4) Hornwort .

Arrange the following bryOphytes

in order of their increasing

complexity of sporophyte :
A. Pellia

B. Funaria

C. Riccia

D. Anthoceros

E. Marchantia

Codes :

(1) CEDBA

2 ECDAB

3 ACEDB

4 CEADB (%
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Pseudoelaters are present in
(1) Riccia

(2) Marchantia

(3) Anthoceros

(4) Pellia

The part of a moss capsule which
functionally regulate spore
dispersal is :

(1) Peristome
(2) Operculum
(3) Diaphragm
(4) Columella

Thalloid plant body is found in
(1) Sphagnum

(2) Salvinia

(3) Dumortiera

(4) Polytrichum

Which of the following group
constitutes the lower bryophytes ?

(1) Marchantiales
(2) Jungermanniales
(3) Anthocerotales
(4) Mosses

The number of neck canal cells in
the archegonium of a fern is

(1) One
(2) Two
(3) Four
(4) Eight
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18. Which of the following is a free-

19.

20.

floating, root-less fern ?
(1) Azolla

(2) Sphagnum

(3) Salvinia

(4) Pilularia

Select the heterosﬁorous
pteridophytes using the codes
given below :

A. Pilularia

B. Stylites

C. Platyzoma

D. Macromitrium
E. Regnellidium
F. Phyllitis
Codes :

(1) B,C,Eand F
(2) B,Cand E

3) A,D,Eand F
4) A B,Cand E

In pteridophytes, the overlapping

_ of leaf gaps in a solenostele leads

to the formation of

" (1) Plectostele

(2) Amphiphloic solenostele
(3) Dictyostele
(4) Haplostele

. Merlin’s grass or quillwort is the

common name for
(1) Equisetum
(2) Selaginella
(3) Pillularia
(4) Isoetes
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24,

In which Pteridophyte micro-and
megasporangia are similar until
the sporocyte stage ?

(1) Lycopodium

(2) Equisetum

(3) Selaginella

(4) Marsilea

Which one of the following 1s a
fossil bryophyte ?

(1) Naiadita lanceolata

(2) Zosterophyllum

(3) Ptilophyllum

(4) Sphagnum

. Arrange the following Period of

the Geologic time scale in
chronological order [Ancient to
Recent] using the codes given
below :

Triassic

Silurian

Carboniferous

Cretaceous

Jurassic

Cambrian

Codes

1) FDBCAE

@ CFDEBA

@3) DEACBF

4 ACEBDF

MED oW

Which of the following order of
gymnosperms comprises of
extinct members ?

(1) Cordaitales

(2) Cycadales -

(3) Ginkgoales

(4) Gnetales
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Which of the following character
is shared by gymnosperms and
angiosperms ?

(1) Endosperm is gametophytic.
(2) Ovules are bitegmiec.

(3) Anemophilous pollination.

(4) Presence of companion cells.

Which of the following character

is not shared by gymnosperms

and ferns ?

(1) Gametophytes dependent on
the sporophyte

(2) Circinate vernation of leaves

(3) Presence of vascular tissue

(4) Fertilization is
siphonogamous.

Chilgoza is obtained from
(1) Macrozamia communis

(2) Araucaria araucana
(3) Pinus gerardiana

(4) Ginkgo biloba

Select the incorrect statement of

the following :

(1) Cycads are dioecious.

(2) Male plant of cycas is
monopodial.

(3) Girdling bundles are present
in cycas.

(4) Cycads are manoxylic.

The Maidenhair Tree is
(1) Adiantum

(2) Ginkgo biloba

(8) Ephedra fragilis

(4) Taxus jurassica

prd

51



31.

32.

33.

34.

51

3, - % g gR@t S W %
St gfq # @, 3w fem
Yoo % Hew Rn=iemd @) ggaifi
(1) NSwd"

Q) Treeiacies

(3) fem

(4) fafeafegan

ﬁwﬁmaﬁq&%wm
e E

(1) uf~rem %
(2) HiETF
(3) SRl $
(4) AT F

(1) BEDCA
(2 EBDAC

(3 EBCDA

4 BECDA .

qﬁﬂhmﬁgﬁﬁ%wmqaﬁwﬁ
SIS A ARNT:
(1) TifERd - e
(2) F=RE -
(8) wfewdh - o
(@) Jmafest - ufiwh

— ————— —" ——— S—— —

31.

32.

33.

o
o

Identify the gymnosperm which
resembles a gigantic turnip with
two opposite leaves that grow
continuously throughout the life
of the plant :

(1) Podocarpus

(2) Phyllocladus

(3) Gnetum

(4) Welwitschia

Sequoia sempervirens, the tallest
trees in the world, are member of :

(1) Angiosperms
(2) Cordaitales

(3) Coniferales

(4) Taxales

Arrange the Taxon given below in
hierarchical- order (lower to
higher) using the codes given :

A. Order

B. Genus

C. Class

D. Family

E. Species
Codes :

(1) BEDCA
2 EBDAC
3 EBCDA
4 BECDA

Select the incorrect combination
of the traditional and new names

.of angiosperm families :

(1) Papilionatae — Fabaceae
(2) Compositae - Asteraceae
(3) Labiatae — Lamiaceae
(49 Umbeliferae - Apiaceae
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Odd sepal is anterior in which of
the following family ?

(1) Solanaceae

(2) Asteraceae

(3) Fabaceae

(4) Asclepiadaceae

International Standard size of
herbarium sheet is

(1) 16.5 x 11.5 inches

(2) 18 x 12 inches

(3) 11.5 x 9.5 inches

(4) 42 x 29 inches

Name the series in which
Bentham and Hooker placed the
family Euphorbiaceae.

(1) Curvembryeae

(2) Daphnales

(3) Achlamydosporeae

(4) Unisexuales

Epipetalous androecium occurs in
A. Asteraceae

B. Euphorbiaceae

C. Asclepiadaceae

D. Solanaceae

Codes :

(1) A, Band C

(2) B,CandD

3) A,CandD

4) A B,CandD

Binomials with identical genus
name and -specific epithet are
termed as i

(1) Autonym

(2) Homonym

(3) Tautonym

(4) Synonym
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40. Which of the following is the

41,

floral formula for the male
flowers of the family
Cucurbitaceae ?

Y
1) t3K,CpAs

) GB8‘1)(3-5)0r 3+3or zeroA l-w
Or (3 — )

® t3 P2 A, Go
@ o8 Ks) Cs 00 5) A 3015 0r ®)
or (2)+(2)+1

Consider the two statements
Assertion (A) and Reason (R) and
choose the correct answer ‘using
the codes given below :

Assertion (A) : Fumariaceae are

quite distinct from the
Papaveraceae.

Reason (R) Fumariaceae
possess 1soquinoline

derivatives which are not’
found in Papaveraceae.

Codes:

(1) (A) and (R) both are true but

(R) is not the explanation of
A). _

(2) (A) is false but (R) is true.

(3) (A) is true but (R) is false.

(4) (A) and R) both are true and
(R) is the correct explanation
of (A). '

. From taxonomic point of view,

which of the following character
of wood anatomy is an advanced
character ?

(1) Vessel end wall with
scalariform perforation plate.

(2) Diffuse porous wood.

(3) Apotracheal wood
parenchyma.

(4) Stratified arrangement of

wood elements.
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In the Bentham and Hooker
system of classification, which of
the following is not a series of the
class Polypetalae ?

(1) Heteromerae

(2) Disciflorae

(3) Thalamiflorae

(4) Calyciflorae

Match the characteristic features
(Column I) given below with their
family (Column II) and select the
correct answer using the codes
given below :

Column-I Column-II

- Syngenesious (i) Cucurbitaceae
anthers

Spikelet (1)) Solanaceae
Presence of (iii) Asteraceae
translator

Monothecous (iv) Asclepiadaceae
anthers

Obliquely (v) Poaceae
placed

carpels

Codes :

AR HB FC. DT E
@D G) v ) @ 3G
@ @) Gv) (v) @) @)
@) ) (i) @ G Gv)
@) @) (@ @ @ 3G

. Cortical bundles are present in

the stem of

(1) Bignonia
2) Achyranthes
(8) Leptadenia
(4) Nyctanthes
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46.

47.

48.

49,

50.

Select the correct statement : ‘

(1) Many radial vascular
bundles are found in dicot
roots.

Vascular bundles in dicot
stems are conjoint, collateral
and exarch.

In stems, the vascular
bundles are arranged in
multiple rings.
The vascular bundles of
monocot stem are of closed

type.
Tylosis develop in :
(1) Epithem
(2) Sieve tubes
(3) Aril
(4) Vessels

()
3)

(4)

Which of the following is a living
plant cell having cytoplasm but
devoid of nucleus ?

(1) Bast cell

(2) Phellem

(3) Sieve tubes

(4) Companion cells

The waxy substance present on
the wall of cork cell is

(1) Suberin
(2) Lignan
(3) Cuticle
(4) Cutin

Which of the following plant does
not have Kranz anatomy ?

(1) Sugarcane
(2) Maize
(3) Sorghum
(4) Wheat
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51.

52.

53.

54.

55.

Guttation takes place through

(1) Lenticels

(2) Stomata

(3) Hydathodes
(4) Bulliform cells

The secondary vascular bundles
in Dracaena stem are :

(1) Bicollateral
(2) Amphivasal
(3) Amphicribral
(4) Amphiphloic

Which of the following is not

included in the term “Bark” as
defined by Esau ?

(1) Secondary phloem
(2) Pericycle

(3) Periderm

(4) Cortex

Velamen tissue is present in
(1) Pneumatophores

(2) Aerial roots of banyan tree
(3) Roots of epiphytic plants

(4) Haustorial roots of parasitic
plants

According to the telome theory,

monopodial  branching  was
derived  from  dichotomous
branching by

(1) Overtopping
(2) Planation
(3) Webbing
(4) Syngenesis
51
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56.

87.

58.

59.

Consider Assertion (A) and
Reason (R) statements and
choose the correct answer using
the codes given below : '
Assertion (A) : Root apex is
generally protected by a root

cap.
Reason (R) : Root meristem is
subterminal.
Codes:

(1) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(2) Both (A) and (R) are true but
' 1s not the correct
explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

Arrange the following
placentation types in order of
their  phylogenetic hierarchy
(ancient to recent):

A. Axile B. Basal

C. Free Central D. Laminar
Codes :

(1) ABCD
(3 DACB

(2 DBCA
49 BDAC

Which of the following is not an
example of open carpel bearing
flower ?

(1) Clematis

(2) Coptis

(3) Drimys

(4) Degeneria.

Which of the following is an
advanced character of floral
morphology ?

(1) Spiral arrangement of whorls
(2) Zygomorphy

(3) Hermaphrodite flowers

(4) Freedom of floral parts
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60. Which of the following eminent

61.

62.

63.

64.

persons are ecologist,

palaeobotanist and embryologist,

respectively ?

(1) B. Sahni, R. Mishra, P.
Maheshwari.

(2) R. Mishra, B. Sahni, P.
Maheshwari.

(3) P.Maheshwari, R. Mishra, B.
Sahni - '

(4) R.Mishra, P. Maheshwari, B.
Sahni.

Xenia is an effect of pollen grain
on

(1) Nucellus
(2) Embryo
(3) Endosperm
(4) Stigma

Polyembryony is a characteristic
feature of

(1) Citrus
(2) Banana
(3) Papaya
(4) Cucurbits

Triploid plants can be obtained
from culture of

(1) Anther

(2) Shoot meristem
(3) Endosperm

(4) Antipodal cells

Nucellar embryo is

(1) Apomictic embryo
(2) Amphimictic haploid
(3) Adventive embryofly
(4) Amphimictic diploid

51
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65.

66.

67.

68.

The compatibility of stigma is
recognized by

(1) Pollen Kitt

(2) Extracellular Proteins
(3) Ubisch bodies

(4) X-bodies

Caruncle is the -characteristic
feature of the family

1) .Euphorbiaceae

(2) Araceae

(3) Asclepiadaceae

(4) Acanthaceae

Which of the following is a type of
Bisporic embryo sac ?

(1) Adoxa type

(2) Allium type

(3) Plumbagella type

(4) Polygonum type

Match the term (Column-I) with
the agent of pollination (Column-II)
and choose the correct answer
using the codes given below :

Column - I Column - I1

A. Bees () Ombrophily

B. Wind (i) Myrmecophily

C. Bats (iii) Melittophily

D. Rain (iv) Anemophily

E. Ants = (v) Chirdpterophily
Codes :

A B C D E
M@ O G 6@ @
@ @ @) @ G @)
@ () Gv) & GO )
@ @) @) @O @ (i
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69. Choose the families characterized

70.

71.

by the absence of an endosperm,
using the codes given below :

A. Fabaceae

B. Orchidaceae
C. Trapaceae

D. Apiaceae

E. Loranthaceae
Codes :

(1) B,Cand E
@ C,Dand E
3) AandD

(4) Band C

Double fertilization was first
observed by

(1) Jensen
(2) Nawaschin
(3) Navashina
(4) Schulz

Aleurone tissue is

(1) The starchy endosperm of
monocot seeds. '

(2) A part of the embryo in
monocot seeds.

(3) The protective layer of cells
outside monocot seeds.

(4) The layer of living cells
present around the starchy
endosperm of monocot seeds.

In which of the following type of
embryogeny in dicots, the zygote
divides by a vertical wall ?

(1) Piperad type

(2) Chenopodiad type

(3) Solanad type

(4) Onagrad type
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73.

74.

75.

76.

Perisperm is present in
(1) Ricinus communis

(2) Piper nigrum

(8) Myristica fragrans

(4) Taxus baccata

Which of the following is not a
floral adaptation to prevent self
pollination ?

(1) Dichogamy

(2) Herkogamy

(3) Dicliny

(4) Polyspermy

The process of production of a
sporophyte  without  gametic
fusion is known as

(1) Apomixis

(2) Amphimixis

(3) Xenia

(4) Metaxenia

Speciation in which a population
splits into two geographically
isolated populations, experience
dissimilar selective pressure and
genetic drift is :

(1) Sympatric Speciation

(2) Allopatric Speciation

(8) Parapatric Speciation

(4) Peripatric Speciation

In which of the following ecosystem

_the annual rainfall is limited, lack

of nutrients in soil and dry climate
throughout the year ?

(1) Oceans

(2) Lakes

(8) Tropical Rain Forests

(4) Grasslands
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78. Which of the following is an

79.

80.

(1) ‘Assimilation at trophic level

example of commensalism ?

(1) Nitrogen fixing bacteria in
association with legume
plant roots.

(2) A microbe in living human
gut.

(3) Orchid plant growing on the
trunk of mango tree.

(4) Anabaena in the aerial roots
of cycas.

Lindeman’s efficiency between
trophic levels is depicted by the
formula Efficiency = A/B
Where A and B, respectively, are :
n’ and ‘Assimilation
trophic level n - 1
‘Intake at tropic level n’ and
‘Net productivity at trophic
leveln -1
(3) ‘Assimilation at trophic level
n’ and ‘Productivity at
trophic level n — 1’
‘Productivity at trophic level
1 ‘Assimilation at

at

@)

4)
n’ and .
trophic level n -1’

Which of the following is a
secondary pollutant ?

(1) Ozone

(2) Benzene

(3) Mercury

(4) Carbon monoxide

The. uppermost zone of
atmosphere of earth, where
shortwave UV radiations are
absorbed, is

(1) Thermosphere

(2) Mesosphere

(3) Stratosphere

(4) Troposphere
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82..

83.

Select the correctly matched pair
of the process and its causative
species using the codes given
below.

Process of the global nitrogen
cycle :

(1) Denitrification

(i) Nitrification

(iii) Nitrogen fixation

Causative spécies

A. Rhizobium

B. Nitrosomonas

C. Nitrobacter

D. Pseudomonas

E. Azotobacter

Codes :

@ (i) (iii)
@ B D A
2 B&D C A&E
&) D C A&E
C)) E C&D A

Consider the Assertion (A) and
Reason (R) and select the correct
answer using the codes given
below :

Assertion (A) : The available

energy of an ecosystem
decreases with the length of
food chain.

Reason (R) : At each transfer of
energy in food chain, large
proportion of the potential
energy is lost as heat.

Codes:

. (1) (A) is true but (R) is false.

(2) (A) is false but (R) is true.

(3) (A) and (R) both are true and
(R) is the correct explanation
of (A).

(4) (A) and (R) both are true but
(R) is not the explanation of
A). :
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84. Match the type of ecosystem

85.

86.

service (Column-I) with the
service rendered under the type
(Column-II) and choose the
correct answer using the codes

given below :

Column -1 Column - I1

A. Provision * (i)  CO, fixation
service

B. Regulation (ii) Actual area
service protected

C. Support (iii)) Water
service supply

D. Social @iv) Eco-tourism
service

Codes::
A B C D

(1) @) @) Gv) @)
2) i) @) @) Gv
@ O Gv) Gi) ()
@ Gv) @) @) (i)

In which of the following
ecosystem, the food web involves
more species and more trophic
levels ?

(1) Grassland

(2) Ocean

(3) Desert

(4) Rain forest

Which of the following species of
Rajasthan has the “Rare” status

_in Red Data Book ?
(1) Dicliptera abuensis

(2) Strobilanthes halbergii
(8) Ceropegia odorata
(4) Anogeissus sericeq
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87.

88.

89.

Consider Assertion (A) and
Reason (R) and choose the correct
answer using the codes given
below :

Assertion (A) : Natural gas is an
eco-friendly fuel.

Reason (R) : It produces few
pollutants and less carbon di-
oxide per unit energy than
any other fossil fuel, on
combustion.

Codes :

(1) Both (A) and (R) are true but

" (R) is not the explanation of

(A).

Both (A) and (R) are true and

(R) is correct explanation of

A). - _

(3) (A) is false but (R) is true.

(4) (A) is true but (R) is false.

Choose the correct sequential

order of the different categories of
threatened species :

(1)

@)

Rare — Vulnerable

s
Endangered — Extinct

(2) Rare — Endangered —
Vulnerable — Extinct

(3) Vulnerable — Rare —
Endangered — Extinct

(4) Endangered — Rare —
Vulnerable — Extinct

As per the April 2018 update of
UNESCO (MAB), how many
biosphere reserves of India are a

part of the World Network of

Biosphere Reserves ?
(1) 7 (Seven)

(2) 9 (Nine)

(3) 11 (Eleven)

(4) 13 (Thirteen)
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90.

91.

92.

Select the steps of an idealized
EIA process that require public
involvement, using the codes
given below :

A. Scoping

B. Analysis

C. Mitigation

D. EIA Report

E. Review

Codes :

(1) Cand E

(2) Aand C

(3) A,Cand E

4 A, BandD

Consider the. Assertion (A) and

Reason (R) and select the correct

answer using the codes given

below :

Assertion (A)
contributes
warming.

Reason (R) Black carbon

~ behaves like a black body.

Codes :

(1) (A)is true but (R) is false.

(2) (A) is false but (R) is true.

(8) Both A and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true but ®R)is

not the explanation of (A).

Select the incorrect statement :

(1) Overall biodiversity increase
towards equator.

(2) Biodiversity is more in

temperate regions than in

tropic regions.

Biodiversity is more in

tropics than in temperate

regions.

Biodiversity is least in\polar

regions. -

: Black ca.rbon
to global

(4)

@3)

4
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93.

94.

95.

Soil pollution is caused by
(1) Modern

harvesting

technologies in

(2) Integrated pest management

(3) Afforestation

(4) Industrial and mining wastes

Match the various day observed
(Column-I) with their dates
(Column-IT) and choose the
correct answer using the codes
given below :

Column - 1 Column - I1

A. World Biodiversity (i) 2 February
Day

B. World Wetland (ii) 22 March
Day

C. World Water Day (iii) 5 June

D. World (iv) 22May
Environment Day

E. Earth Day (v) 22 April

Codes:

A B C D E
D Gv) @ @ ) (i)
@ @ (v @) Gv) @
@ @) O @G G
@ v Gv) @ aG) @

The  ‘Superbug’  used
bioremediation of oil spills is :

for

(1) Pseudomonas fluorescens
)] Pseudomona‘éputida

(3) Escherichia \coli

(4) Bacillus subtilis
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96. The most reactive disinfectant of -

97.

98.

water is
1) Cr
@ I,
@) Clo-

(49) HOCI

The number of main primary
centers, as recognized by Vavilov
(1935) in ‘The Phytogeographizal
basis for Plant Breeding’ is

1) 8
2 9
3) 10

4 11

According to Vavilov the centers

‘of origin of cultivated plants

occurred mostly in

(1) Grasslands

(2) River basins

(3) Mountainous regions

(4) Metamorphic rock plateaus.
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99.

Match the botanical name of the
medicinal plants from the Thar
desert (Column-I) with their
common / local name (Column-IT)
and choose the correct answer
using the codes given below :

Column-‘I Column-II

A. Cassia (1) Amaltas
_anguestifolia

B. Commiphora (ii) Senna
mukul

C. Cassia (iii) Indrayan
fistula

D. Salvadora (iv) Gugul
oleoides .

E. Citrullus (v) Jaltree
colocynthis

Codes :

100.

101.

A B C D E
M O ¢ @@ Gv) (i)
@ (v @ @) G G
@) @ G G @ (i)
@ @(v) @O ) @) ()

The botanical name of ragi
(Finger millet), a plant with
potential food value, is :

(1) Avena sativa

(2) Fagopyrum esculentum
(3) Amaranthus cruentus
(4) Eleusine coracana

The edible plant part of cereal is
(1) Fruit

(2) Seed

(3) Endosperm

(4) Cotyledons
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102.

103.

104.

Steroidal Lactones are present in
(1) Rauwolfia

(2) Ephedra

(3) Atropa

(4) Withania

Choose the mismatch pair of the
medicinal plant and the major
type of alkaloid present in them :
(1) Withania - Isoquinoline

alkaloids
(2) Cinchona - Quinoline
alkaloids
(8) Rauwolfia — Indole alkaloids
(4) Atropa - Tropane alkaloids

The green tea, white tea, oolong

. and black tea differin : -

105.

106.

(1) The plant species from which
they are obtained

(2) The extent of oxidation
during processing

(3) The pressure they are
subjected to during
processing

(4) The stage of plant from
which they are plucked.

The minimum resolution of

electron microscope is

(1) 0.2 mm

(2) 20 nm _

(3) 100 nm

(4) 0.2nm

Co-localization of two fluorescently

labelled biomolecules in an

organelle in cells is usually

visualized by :

(1) Scanning electron microscopy
(2) Phase contrast microscopy
(3) Bright field microscopy

(4) Confocal microscopy
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! 107. The

108.

109.

110.

plant fixative FAA is
prepared by using :

(1) Formyl alcohol, Acetaldehyde
and Acetone

(2) Formaldehyde and Acetone

(3) Acetaldehyde, Formaline and
Acetic acid

(4) Ethanol, Formaldehyde and
Glacial acetic acid

Which of the following is used to
ﬁx.’the root tips for karyotyping ?
(1) Giemsa solution

(2) Carnoy’s solution

(3) FAA

(4) HDPE fixative

Which of the following is a
chromosome specific stain ?

(1) Fast green

(2) Cotton blue stain

(3) Acetocarmine

(4) Crystal violet -

Nanometer is a measurement
unit for wavelength of light. One
nanometer is equal to :

(1) 1 x 108 meter

(2) 1 x 109 meter

(3) 1x 102 meter .

(4) 1x10° meter
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Which of the following
wavelength range is associated
with UV/visible spectroscopy ?

- (1) 380- 750 nm

112,

113.

114'

30..

(2) 100 - 400 nm
(3) 100 - 800 nm
(4) 0.8-500pm

In which of the following type of
chromatography the stationary
phase is held in a narrow tube
and the mobile phase is forced

through it under pressure ?

(1) Column Chromatography
(2) Gas Chromatography

(3) Thin Layer Chromatography
(4) Liquid Chromatography

In reference to centrifugation
what is meant by 500g ?

(1) 500 gm of content is to be
taken in centrifugation tubes.

(2) 500 gyrations per second.

(8) Centripetal force is 500 times
the gravitational force.

4) Centrifugal force is 500 times
the gravitational force.

Coir is obtained from :
(1) Bast

(2) Fruit

(3) Seed

(4) Leaves
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115.

116.

117.

118.

Which of the following bacteria is

Ames test for

used in the
Mutagenicity ?
(1) Beijerinckia
(2) Sarcina

(3) Salmonella

(4) Pseudomonas

Bergey’s manual is used for the
identification of

(1) Virus

(2) Fungi

(8) Cryptogams

(4) Bacteria

Muramic acid is absent in the cell
wall of

(1) Eucarya

(2) Archaea

(3) Cymobacteria

(4) Proteobacteria

Select the bacteria that ‘lack a
defined cell wall’, using the codes
given below :

A. Archaea

B. Mycoplasma

C. Viroids ]

D. L-form bacteria

Codes :

(1) ABandD

(2 B,CandD

(3) Aand B

(4) BandD
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119. Choose the correct statement of
the following :
(1) Virion is the extracellular
' phase of the virus life cycle.
(2) Viroid is a single stranded

infectious DNA molecule.

(8) Prions are the RNA
containing infectious protein
particles.

(4) Lform is a type of
bacteriophage.

120. In a plant body phytoplasma are

present in
(1) Shoot apical meristem
(2) Quiescent centre
(3) Phloem
(4) Bulliform cells
121.In a bacterial cell, the site of
action of the antibiotic, penicillin,
is: :
(1) 70s ribosome
(2) Nucleoid
(3 Cell membrane
(4) Cell wall

122. Which of the following is a genera

of mollicutes ?
(1) Mycobacteria
(2) Spiroplasma
(3) Virion

(4) Myxobacteria

123. An example of the ammonifying

bacteria is :

(1) Nitrosomonas
(2) Clostridium
(3) Nitrobacter.
(4) Xanthomonas
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124,

125.

126.

The floating forms of microbial
communities in aquatic
environments are termed as

(1) Biofilm

(2) Planktons
(3) Benthos

(4) Stromatolites

The crown gall disease of dicot
plants is caused by

(1) Agrobacterium rhizogenes
(2) Thermus aquaticus
(3) Bacillus thuringiensis

(4) Agrobacterium tumefaciens

Sequence the use of the various
chemicals/stains during the gram
staining technique, using the
codes given below :

A. Mordant

B. Primary stain
C. Counter stain -
D. Decolourizer
Codes :

(1) ABDC

(2 BDAC

3 ABCD

4 BADC
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127.

128.

Match the plant diseases given in
column-I with their causal
organism in column-II and select
the correct answer using the
codes given below :

Column -1 Column -1

Loose smut (1) Ustilago tritici

of wheat ;

Loose smut (i) Puccinia

of jowar graminis

Smut of (iii) Sphacelotheca
" Bajra cruenta

Stem rust of (1v) Tolyposporium

wheat penicillariae
Codes :

A B C D
1) O @) Gv) @)
(2 @) @O @ v
3) ) @) Gv) @
(4) @ Gv) @) @)
Ooze test is a rapid field test for
the detection of which of the
following plant pathogen in the
field ?
(1) Bacteria

(2) Fungi

(3) Virus

(4) Nematodes

129. Consider the following
statements with reference to
phytoalexins and choose the
correct statements wusing the
codes given below :

A. They are the substance
produced by plant tissue.

B. They are produced in
response to the host-parasite
interaction.

C. They are Broad spectrum
inhibitors.

Codes :

(1) AABandC (2) Aand B

3) Band C - (4) Aand C
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130. Bordeaux mixture is a

131.

| 132,

|
|
|
|
i 133.
|
|
|
|
|

(1) Fungicide
(2) Pesticide
(3) Bactericide
(4) Nematocide

Causal organism of which of the
following disease is not a member
of order Peronosporales of class
Oomycetes ? '

(1) Damping offs

(2) Downy Mildews

(3) Powdery Mildews

(4) White rusts

Consider the two statements

[Assertion (A) and Reason ®R)]

and choose the correct answer

using the codes given below :

Assertion (A) : Root hairs are
particularly vulnerable to
invasion by pathogens.

Reason (R) : Root hairs lack
lignified cell walls.

Codes :

(1) Both (A) and (R) are true and
(R) is the eorrect explanation
of (A). 4

(2) Both (A) and (R) are true but
(R) is not the correct
explanation of (A). A

(3) (A)is true but (R) is false.

- (4) (A) is false but (R) is true.

The conidial
pathogen for
Sugarcane is __
(1) Colletotrichum falcatum
(2) Glomerella tucumanensis
(8) Pythium butleri A '
(4) Peronospora parasitica

stage of the
Red Rot of
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134. Match Column-I and II showing

135.

~

136.

the spore stages in the life cycle
of Rust and select the correct
answer using the codes given
below :

Column -1 Column - I1

A. StageO (1) Basidiospores
B. Stagel (i) Uredium -

C. Stagell (iii)) Pycnium

D. Stage III (iv) Telium

E. StagelIV (v) Aecium
Codes :

A B C D E

D @ @ ¢ @ G
(@ Gv) @) @O G ()
@) @) Gv) @) ) O
@ @) (v) @@ ) @

Select the disease symptoms of

bajra  (Pennisetum typhoides)

plant infested with Seclerospora

graminicola, using the codes

given below :

A. Powdery Mildew

B. Conversion of various floral
parts into leafy structures.

C. Downy Mildew :

D. Development of long copper
coloured stripes along the
entire length of the leaf.

Codes:

(1) Aand B

(2 Band C

(3) Band D

(4) Aand D

The fungi that yields lysergic
acids is
(1) Cuscuta

. (2) Clostridium

(8) Cystopus
(4) Claviceps
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137.

138.

139.

140.

141.

Root knot disease of vegetables is -
caused by

(1) Bacteria

(2) Fungi

(3) Nematodes

(4) Mycoplasma

Agar-Agar is obtained from which
of the following Algae ?

(1) Ulva

(2) Volvox

(3) Ascophyllum
(4) Gelidium

Which of the following plant
group is the world’s biggest
oxygen producer ?

(1) Algae

(2) Vascular Cryptogams

(8) Gymnosperms

(4) Angiosperms

Arthrospira is a member of
(1) Chlorophyceae

(2) Cyanophyceae

(8) Phaeophyceae

(4) Bacillariophyceae

Given below are the pairs of the
types of life cycles in algae and
their example. Select the
incorrect  combination  given
below : ’
(1) Diplohaplontic - Ectocarpus

(2) Diplontic - - Oedogonium
(3) Haplobiontic - Batracho-

. spermum
(49) Diplobiontic - Polysiphonia

=
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(1) 3 UTeHl & ied §
(2) 998 GO T1ET & W &

(3) FerEegaiaga SawR &
ORCIGK:]

“ATA TOR” T HH  IEhIS AT
FIYREIH 95 8 Rogoa
(1) HrEwEE i

2) AATB H

(3) TRAGIEH HT

(4) TSHEER F

fr=faRed # @ =1 91 s=aasie e
T T IS ?

(1) fozaws
2) Fgien
(3) ™
@) ¥=Sfer

frafafea ¥ & 3 @ TR g
AT & ?

(1) dicdied

(2) e

(3) TSR

(4) 5

— —— — S — — St W —— S ———— —
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142.

143.

144.

145.

. Which

Chlorophyll a and b are present
in which of the
cyanobacterium ?

(1) Prochloron

(2) Spirulina

(3) Anabaena

(4) Oscillatoria

following

Third generation Dbiofuel is
extracted from

(1) Latex of higher plants

(2) Starch rich plant parts

(3) Lignocellulosic biomass

(4) Algae

Trichodesmium erythraeum the
cause of ‘Red sea’ is a member of

(1) Phaeophyceae
(2) Bacillariophyceae
3) Cyanophyceée
(4) Rhodophyceae

Which of the folldwing is an
example of a non-motile colonial
algae ?

(1) Scenedesmus

(2) Eudorina

(3) Gonium

(4) Pandorina

of the following is a

coenocytic filamentous alga ?
(1) Volvox
(2) Vaucheria
(3) Spirogyra
(4) Zygnema
51



147.

148.

HHIBR FERE B E

(1) TSHEe s
(2) $rEreEed
(8) WEAITEH
(4) IERGES
Him-1 9 Siaw-11 # gifm = A2
fw T %2t H wEEmar ¥ @ s oW
Wﬁﬁﬂ{:
HieH-1 Hiem-11
A. sifsEife (i) O e
=
B. BEM Tl (i) @R et w5
i R NI
C. d%egiig (iii) Fa-aEdR
g NG
D. SfrT (iv) 3rfrareda
e e
e
A B C D

Q) @) () Gv) @)

@ @& @) i) ()
@) Gv) (i) @ @)
@ O Gv) @) (i)

|

l
|
|

147.

148.

149.

Chromatophoreé are absent in
(1) Rhodophyta
(2) Phaeophyta
(8) Cyanophyta
(4) Pyrrophyta

Match Column-I with Column-IT
and choose the correct answer
using the codes given below :

Column -1 Column - IT
A. Coleochaete. (i) Parasitic
scutata algae
B. Anabaena (1) Brackish
azollae water algae
C. Cephaleuros (iii) Endophytic
virescens algae
D. Dunaliella (iv) Epiphytic
salina algae
Codes :
A B C D

(1) @) @) Gv) @)
@ O @) @) (Gv)
@) (v) Gi) @) )
@ @ (v @) i)

Select the incorrect example of
the given algal classes :

(1) Phaeophyceae - Sargassum
(2) Xanthophyceae - Vaucheria
(38) Rhodophyceae - Polysiphonia
(4) Characese - Coleochaete

150. Floridian starch is the stored foo

e , .
(1) Phaeophyta
(2) Xanthophyta
(3) Charophyta
(4) Rhodophyta

149. & 73 A9 @t % Ter9 Fewwr T4
Hifdra -
(1) awEd = - ARt
(2) S - e
(8) USiwraeh - YicfiEmEeifE
(4) P ~-  Hifeabie
150. Fefefeem He dfa sy veref 2
(1) drR®Ee A
(2) JeNwrEe
(3) FEZeT A
(4) VSwEaH
51
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TH B & 7T ™= / SPACE FOR ROUGH WORK
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